
 
 
 
 
 
 

Towbar Fitting Instructions 
To Suit Honda CRV 

Part Number QTHN400 
Rating 1500Kg 12/01-on  

 Page 1 of 2 Issue Date 29/01/02 
 

  THE WORKHORSE OF AUSTRALIA’S TOWBARS 

 
 
 

1. Remove rear muffler from 3 rubber hangers and join in front of rear suspension. 
2. Lift towbar into position and align pop marks with holes in side arms, support towbar with jack 

stands. 
3. Fit ‘U’ bolt spring washers and nuts to shipping hook and holes in hitch box semi tight (items 4, 2 

& 5). 
4. Making sure towbar is square to vehicle drill Ø11mm holes through bottom face of subframe 

using forward most and rear most holes in side arm as guides. 
5. Fit tapped plates on wire through hole forward of side arms. Fit bolts spring washers (items 1, 2 & 

3). 
6. Tighten all bolts to torque listing below. 
7. Refit rear muffler to 3 rubber hangers and join in front of rear suspension. 
8. Attach the plastic hitch box collar (item 9) by applying firm even pressure. 
9. Insert the tongue (item 8) into the hitchbox and secure with “R” clip and pull pin (items 6 & 7) 

 
 
 
 

COMPONENT KIT 

ITEM No. DESCRIPTION QTY TORQUE Nm 

1 Fitting plate & wire 20 x 10 x 40 M10 x 1.5P W-300 4  
2 M10 Spring washer 6  
3 M10 x 35 1.5p Bolt  4 44 
4 3/8”UNC  ‘U’ Bolt  1 36.6 
5 3/8”UNC Nut  2  
6 Pull pin (PIN_04)  1*  
7 ‘R’ Clip (PIN_01)  1*  
8 Tongue (5196) 1  
9 Collar cover (COL_04)  1  
    

Note: * One of each item 6 and 7 is used to secure the tongue to the towbar during transit. 



 
 
 
 
 
 

Towbar Fitting Instructions 
To Suit Honda CRV 

Part Number QTHN400 
Rating 1500Kg 12/01-on  

 Page 2 of 2 Issue Date 29/01/02 
 

  THE WORKHORSE OF AUSTRALIA’S TOWBARS 

 

 


